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(10 phút).
-
?1
-

tính (a+b)(a+b)
- 2 = ?
-
tùy ý thì (A+B)2=?

-
?2

-

-

-

2=(50+1)2

- 2=?

(10 phút).
-
?3
-

- -b)2=?
-
tùy ý thì (A-B)2=?

- ?1
(a+b)(a+b)=a2+2ab+b2

-Ta có: (a+b)2 = a2+2ab+b2

-
tùy ý thì 
(A+B)2=A2+2AB+B2

- ?2 theo 

-

-

3012=(300+1)2

- ?3
-Ta có:
[a+(-b)]2=a2+2a.(-b)+b2

=a2-2ab+b2

(a-b)2= a2-2ab+b2

-
tùy ý thì (A-B)2=A2-2AB+B2

- ?4 theo 

-

-

-

?1 (a+b)(a+b)=a2+ab+ab+b2=
=a2+2ab+b2

2 = a2+2ab+b2

ý, ta có:

(A+B)2=A2+2AB+B2 (1)

a) (a+1)2=a2+2a+1
b) x2+4x+4=(x+2)2

c) 512=(50+1)2

=502+2.50.1+12 =2601
3012=(300+1)2

=3002+2.300.1+12

=90000+600+1 =90601

?3  
[a+(-b)]2=a2+2a.(-b)+(-b)2

=a2-2ab+b2

(a-b)2= a2-2ab+b2

ý, ta có: 
(A-B)2=A2-2AB+B2(2)

?4 : 

b) (2x-3y)2=(2x)2-
2.2x.3y+(3y)2

=4x2-12xy+9y2

c) 992=(100-1)2=



-
?4

-

-

-
992=(100-1)2

-
-

(13 phút).
-
?5

-

-
?6

-

-
t
này?

-

-
?7

-
-

- ?5

-

- ?6 theo 

-
-

bài toán này.
-
56.64 =(60-4)(60+

- ?7 theo 

-B)2=(B-A)2

=1002-2.100.1+12=9801.

?5
(a+b)(a-b)=a2-ab+ab-a2=a2-b2

a2-b2=(a+b)(a-b)

ý, ta có: 
A2-B2=(A+B)(A-B) (3)

a) (x+1)(x-1)=x2-12=x2-1
b) (x-2y)(x+2y)=x2-(2y)2=
=x2-4y2

c) 56.64=(60-4)(60+4)=
=602-42=3584

?7  

A-B)2=(B-A)2



- SHD
Cá 

nhân

+ Nêu cách tính.

- SHD

+ P

- SHD

+ Nêu cách tách 

? Nêu cách tính nhanh?

-

viên.

- ghe và 

- SHD: Tính
a) (3+xy2)2 = 9 + 6xy2 + x2y4

b) (10 2m2n)2 = 100 40m2n + 4m4n2

c) (a- b2)(a + b2) = a2 b4

- SHD
a) 4x2 + 4xy + y2 = (2x + y)2

b) 9m2 + n2 - 6mn = (3m - n)2

c) 9m2 + n2 - 6mn = (3m - n)2

d) x2 x + 
1

4
= 

2
1

2
x

SHD: Tính nhanh:
a) 3012 = (300 + 1)2 = 3002 + 600 +1 

= 90601
b) 4992 = (500 1)2 = 5002 1000 + 1

= 249001
c) 68.  72 = (70 2)(70 + 2) = 702 4

= 4896

* H



.

nhà 

so 
sánh 
Bài 1: SABCD = b2 + 2b(a b) 
+ (a b)2 = a2

Bài 2: SABCDEF = a(a b) + 
b(a b) = a2 - b2

SHIJK = a(a b) + b(a 
b) = a2 - b2 = (a b)(a + b)

ph

4 (2 phút)
-

-


